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HBEIND A BEINDH HBEIND N BEINDH
TRZD(BEH) SN TRZD(BEH) SN
T RIER D X 100KN/ml £ 8% 2 X 15 T RIR D X A 100kN/m* A8 2 K izt
NDOKREE| tHE | HOKRES| tHE | hOKEE| 18% | HOKXES| LtFE NDOKRES| tHE | HOKRES| tHE | hOKXREE| 1A% | WOKXES| LtFE
DI5B&wK nNEE |DI3BbERKX NEE | D3B®RK NEE |D53BERX nE= DI 3BHwK NEE |D53BHRX NEE |D3b®&K NEx | D53BERX NEE
DHD DHD DL DHD DHD DHD DL DHD
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1~ 2 - - 84.5 1.0 - - 9.8 2.0
2 ~ 3 - - 84.5 1.0 - - 9.0 1.8
4 ~ 5 - - - - - - - -
5 ~ 6 - - - - - - - -
6 ~ 17 - - - - - - - -
7 ~ 8 - - - - - - - -
9 ~ 10 - - 79.4 1.0 - - 10.3 2.1
10~ 11 - - - - - - - -
11~ 12 - - - - - - - -
12 ~ 13 - - - - - - - -
13 ~ 14 - - - - - - - -
15 ~ 16 - - 86.4 1.0 - - 9.6 1.9
16~ 17 - - - - - - - -
17 _~ 18 - - - - - - - -
19 ~ 20 - - - - - - - -
20 ~ 21 - - - - - - - -
21 ~ 22 - - - - - - - -
22 ~ 23 - - - - - - - -
23 ~ 24 - - - - - - - -
24 ~ 25 - - 52.3 1.0 - - 13.0 2.6
25 ~ 26 - - 52.3 1.0 - - 14.2 2.8
26 ~ 27 - - 26.7 1.0 - - 14.2 2.8
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